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SUMMER BREAK ASSIGNMENT XI, ENGLISH – Submit in separate folder- properly written answers.
HORNBILL
1. THE PORTRAIT OF A LADY:
1.   Why would Khushwant Singh listen to the prayers recited by his grandmother?
2. Which act of grandmother shows she is kind to animals and birds?
3.  How did grandmother react when Khushwant Singh was going abroad?
4.  Why did the sparrows  not eat the bread crumbs given by Khushwant Singh’s mother?
5.  Why is grandmother described as ‘an expanse of pure white serenity?’
6.  What do you understand about the grandmother in the way she accepted her seclusion.
7. ‘nature mourns the death of pure’ Describe in the light of grandmother.
8. How did grandmother accept her death?
9.  Grandmother is a mentally strong lady. Explain.

Long answer type questions: 
1. Describe why grandmother preferred village environment to the city environment.
2. Compare and contrast village education with city education.
3. ‘Respecting old age is respecting traditions’. Elaborate.

 “We’re Not Afraid to Die ….. if We Can All Be Together”
Short answer questions 
1. What was special about December 25?
2. Describe the journey of the narrator with his family on Jan 2.
3. Describe the gigantic wave that dropped the narrator overboard.
4. What injuries were sustained by Sue?
5. How does Jon try to comfort his father?
6. What surprise did the narrator receive when he woke up at 6 p.m.?
7. What were the indications of the impending disaster?
8. What happened to the boat after the narrator was thrown overboard?
9. Describe the grit exhibited by children during the journey.
10. Describe the card made by Sue.
11. Why does the narrator call Ile Amsterdam –the most beautiful island in the world?
12. Why does the narrator say that their respite was short lived?
Long answer questions 
1. Describe the courage shown by children when they faced danger during their voyage.
2. What was the scenario experienced by the voyagers on Jan 3?
3. Justify the title of the story.
4. “Staying together in times of direst of situation helps”. Describe in light of the story.
A Photograph 
Short questions 
1. What does the poet mean by “terribly transient feet”.
2. Is the poet able to cope up with the loss of her mother?
3. Has time healed the poet’s wounded feelings?
4. What makes the mother laugh when she sees the photograph?
5. Explain‐‘ Both wry‐‐‐‐‐‐‐‐‐‐ ease of loss’.
SNAP SHOTS
 Summer of the Beautiful White Horse
Short Answer Type Questions
1.  What did Aram think of the world when he was nine?
2.  What did everybody think about Mourad?
3.  How does the narrator feel when he realized that his cousin had stolen the horse?
4.  The narrator was proud of his tribe’s honesty then why did he agree to enjoy riding a stolen horse?
5.  What did uncle Khosrove say when his son told him that their house was on fire?
6. Long Ans Type Questions
7.  You lost your cycle a day before. Write a notice for the school notice Board about it and announce a suitable reward for it.
8.  Draft a Poster with the message—SAVE ANIMALS.
 The Address
Short Answer Type Questions
1. What was the address referred in the story? How did the narrator get it?
2. Who was Mrs. Dorling? Why did she deny to recognize the narrator?
3. Why did the narrator want her mother’s belongings?
4. Briefly enlist the articles the narrator recognized as her own in Mrs. Dorling’s house?
5. What was the attitude of Mrs. Dorling’s daughter towards the belongings of the narrator’s mother?
6. How did the narrator recognize that the cutlery was her own?
7. “Bread was getting to be a lighter colour,…”Explain it.
WRITING SKILLS‐CLASS
NOTICES
1. You lost your pen drive in the school. Draft a notice to be put up on the school notice board. You are Pallavi/Piyush of Bal Nivas Vidyalaya.
2. You are the literary captain of Vivekanda school. Your school is celebrating grandparents’ day. Draft a notice to be put up on the notice board asking the students to invite their grandparents. Invent all the details.
POSTER WRITING
1. Design a poster to be put up in the school library on the value of books.
2. Design a poster for a school fete.
3. Design a poster against exploitation of children as labourers in harmful industries like cracker factories.
CLASSIFIED ADVERTISEMENT
1. You have lost your brief case while travelling to Chennai by bus. Draft an advertisement to be given in the local daily. Invent all the details.You are Shalini/Sunder.
2. You are setting up crèche in your area. You need a trained nurse for the crèche. Draft a suitable advertisement inventing all the details.You are Ashok/ Ashoka of Belgaum.
3. Kendriya vidyalaya Mysore needs contractual teachers in English .Draft an advertisement on behalf of the principal in the classified columns of the local newspaper.
REPORT WRITING./FACTUAL DESCRIPTION
1. Inter School Regional Level Science exhibition was held in your school. As the science captain of your school you have been asked to write a report for the newspaper.
2. You are Preeti the secretary of the literary club of the Vidyalaya. Write a report for the school magazine on the activities of the club during the current year.

SECTION A -   BBC – DO FIRST FIVE NOTE MAKING AND COMPREHENSION EXERCISES 
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CHEMISTRY
· To complete NCERT exercise of already discussed chapters.
· To prepare Chemistry Project Report as already discussed.
BIOLOGY
· Prepare a project file on the topics distributed individually to the students
· Collect medicinal and economically important plants. And prepare a herbarium file.
· Complete the assignment in Biology Notebook
· Complete practical experiments (No. 1 to 5) in practical file.

HEALTH AND PHYSICAL EDUCTAION
· STRAND-1 (GAMES/SPORTS) ANY GAME
· STRAND-2(HEALTH & FITNESS) YOGA/MASS P.T/ AEROBICS
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» Trigonometry 7. Wite the set B = {3,9,27,81) in setbuilder form.

Which of the following are empty sets? Justify. (Question- 8,9)

Subjects 8 A={x:xeNand3 <x <4}

» Accountancy 9. B={x:xeNandx@=x

> Bio Technology Which of the following sets are finite or Infinite? Justify. (Question-10,11)
» Biology

» Business Studies 10. The set of all the points on the circumference of a circle.

» Chemistry 1. B={x:xeNand xis an even prime number)

» Computer Science

D Ergler 12. Aresets A={-22), B={x:xe Z x2—4 = 0} equal? Why?
» Economics 13. Write (-5,9] in set-builder form

© Fashion Studies 14. Write { x : =3 < x <7} as interval.

> Geography

® Graphics design 15. If A = { 1,35}, how many elements has P(A)?

> Heritage Crafts 16. Write all the possible subsets of A = (5.6).

: :‘5‘:”’ IfA=2345), B ={3567) find (Question- 17,18)

> Hinai

» Home Science 7. AUB

* Informatics Practices. 18 ANB

» Languages

» Mathematics 19. fA={1236),B={1,248fndB-A

> Other Subjects 20, IfA={p.q}B={pa risBa superset of A? Why?

* Psychology 21. Aresets A={1,234), B={x:xe Nand5 < x < 7} disjoint? Why?
> Sociology

® satsics 22. I X and Y are two sets such that n(X) = 19, n(Y) = 37 and n(X . Y) = 12,

find n(X U Y).
» Politcal Science

> Physics

SHORT ANSWER TYPE QUESTIONS (4 MARKS)
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> StraightLines
» Trigonometry 9. B={x:xeNandx=x

Which of the following sets are finite or Infinite? Justify. (Question-10,11)

Subjects 10. The set of all the points on the circumference of a circle.

11. B={x:xeNandxisan even prime number}

> Accountancy

+ Bio Technology 12. Aresets A={-22), B={x:xe Z x2—4 = 0} equal? Why?
* Biology 13. Wiite (-5,9] in set-builder form

» Business Studies
14. Wiite { x : =3 < x <7} as interval.

> Chemisty

> Computer Science 15, If A= { 13,5}, how many elements has P(A)?
* English 16. Wiite all the possible subsets of A = {5.6).

> Economics

A=

2.345). 8 =

» Fashion Studies 3,5,6,7} find (Question- 17,18)

» Geography 17. AUB
* Graphics design

18. AnB
> Hertage Crafts
* History 19. IfA={1236},B={1,24,8}findB-A
> Hindi 20, IfA={p.q}B={pa risBa superset of A? Why?

» Home Science
21. Aresets A= {1,234}, B ={

> Informatics Practices « Nand 5 < x < 7} disjoint? Why?

» Languages 22. IfXand Y are two sets such that n(X) = 19, n(¥) = 37 and n(X n ) = 12,
» Mathematics find n(X U Y).

> Other Subjects

» Psychology SHORT ANSWER TYPE QUESTIONS (4 MARKS)

» Sociology ;

D sutstes 23 IfU = (123456789 A = 23579}, B = { 1,246}, verity

» Politcal Science ) AUB =ANB

" Physics (i) B-A=BnA=B-(AnB)
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» Trigonometry

24. Let A, B be any two sets. Using properties of sets prove that,

Subjects @ a-s)UB=AUB

() AUB-A=B-A

» Accountancy

® Bio Technology [Hint : A~ B = A~ B' and use distributive law.]

» Biology 25. In a group of 800 people, 500 can speak Hindi and 320 can speak
> Business Studies English. Find

> Chemistry () How many can speak both Hindi and English?

» Computer Science

> Englsh (i) How many can speak Hindi only?

* Economics 26. A survey shows that 84% of the Indians like grapes, whereas 45%
> Fashion Studies ike pineapple. What percentage of Indians like both grapes and
» Geography pineapple?

* Graphics design

 Herfage Crats 27. In a survey of 450 people, it was found that 110 play cricket, 160 play

tennis and 70 play both cricket as well as tennis. How many play neither
* History cricket nor tennis?
> Hinai

28. In a group of students, 225 students know French, 100 know Spanish
and 45 know both. Each student knows either French or Spanish. How

» Home Science
» Informatics Practices.

many students are there in the group?
» Languages
» Matnematics 29. fA=[3,5),B=(0,6]then find () A~B, (i) AU B
» Other Subjects
+ Peychology LONG ANSWER TYPE QUESTIONS (6 MARKS)
» Sociology . i ¥
D sntotes 30. In a survey it is found that 21 people like product A, 26 people like
At product B and 29 like product C. If 14 people like product A and B, 15
* Political Science people like product B and C, 12 people like product C and A, and 8
* Physics people like all the three products. Find

Hoc).com) () How may le are surveyed |
720PM
77192015
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» StaightLines

» Trigonometry (i) How many can speak both Hindi and English?

(i) How many can speak Hindi only?

Subjects . A survey shows that 84% of the Indians like grapes, whereas 45%
like pineapple. What percentage of Indians like both grapes and

> Accountancy pineapple?

» Bio Technology . In a survey of 450 people, it was found that 110 play cricket, 160 play
» Biology tennis and 70 play both cricket as well as tennis. How many play neither
» Business Studies cricket nor tennis?

> Chemistry . In a group of students, 225 students know French, 100 know Spanish
* Computer Science and 45 know both. Each student knows either French or Spanish. How
> Englisn many students are there in the group?

» Economics

IfA=[-3,5), B = (0, 6] then find () A~ B, (i) AU B
» Fashion Studies

Geography LONG ANSWER TYPE QUESTIONS (6 MARKS)
» Graphics design
» Heritage Crafs . In a survey it is found that 21 people like product A, 26 people like
> History product B and 29 like product C. If 14 people like product A and B, 15
» Hindi people like product B and C, 12 people like product G and A, and 8
® Home Science people like all the three products. Find
» Informatics Practices () How many people are surveyed in all?

» Languages

» Mathematics (ii) How many lie product C only?

> Other Subjects . A college awarded 38 medals in football, 15 in basket ball and 20 in
> Psychology cricket. If these medals went 1o a total of 50 men and only five men got
> Sociology medals in all the three sports, how many received medals in exactly two
» Statistics DowNLoADED Fiafthevtheee8paTSAY.con 'DOWNLOADED FROM WIWWSTUDIESTODAY.COM

» Poliical Science
* Physics I
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Short Answer Type Questions

1. Give an example of a statement P(r) which is true for all n > 4 but P(1), P(2)
and P(3) are not true. Justify your answer

Give an example of a statement P(r) which is true for all n. Justify your answer.

Prove each of the statements in Exercises 3 - 16 by the Principle of Mathematical
Induction:

. 4 _1is divisible by 3, for each natural number .
4. 2" 1 is divisible by 7. for all natural numbers .
P —7Tn+3 is divisible by 3, for all natural numbers n.
6. 3"_1is divisible by 8, for all natural numbers .

7. For any natural mumber n, 7"~ 2"is divisible by 5.
8. For any natural number n, ¥ — " is divisible by x — y, where x and y are any
integers with x % .

9. m—nis divisible by 6, for each natural number n > 2.
10. n(+5)is divisible by 6, for each natural numbern
11, n* <2 forall natural mumbers n > 5.
12. 2n< (n+2)! for all natural number n

1.1 1
13. ~/7<7l-+77+ +7:,fm:unzmn1nmbmnzz

14. 2+4+6+ . +2n=n>+n for all natural numbers .
15, 1+2+20+ . +27=2"1_ for all natural numbers 1.
16. 1+5+9+ .+ (4n—3)=n(2n 1) for all natural mumbers n.

STUDY MATERIAL

TALENT S|

MOCK TESTS

IMO Mock Test | IEO Mock Test | NSO Mock Test
PSA Online Mock Test
KVPY Online Mock Test

NTSE Online Mock Test

ENTRANCE MS

JEE Main 2015 BITSAT 2015
AIPMT 2015 MGIMS 2015

+
CLAT 2015 AILET 2015
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Long Answer Type Questions

Use the Principle of Mathematical Induction in the following Exercises.

17. Asequencea.a, a, . is defined by letting a, = 3 anda, = 7a,, for all natural
numbers & > 2. Show that , = 3.7+ for all natural numbers

18. A sequence b, b b, ... is defined by letting b, = 5 and b,= 4 + b, _ for all
natural numbers k. Show that b, = 5 + 4n for all natural number n using

PLAN YOUR
thematical induc
mathematical induction 2 DUBAI VACATION
19. A sequence d, d,, d, s defined by letting d, = 2 and d, =1=-for all natural TODAY
2
numbers, k2. Show that , = —forall n € N. BOOK Now
n

20. Prove that forall ne N
cos &+ cos (o + B) + cos (@ + 2B) + ..+ cos (e + (1~ 1) B)

s M(QJB]ML"B]
_ 2 ))
il
2 sin2"0
21. Prove that, cos 8 cos 20 cos28 ... cos216 =+ foralln € N.
2"sin6

sinng o (n+1) o

. Prove that,sin-+5in 26+ 530 +...+ sinnd =25 > forallne N
sin2 +
2
7 on
23, Show that “5=+"7-+77 is 2 uatural mumber forall e N.

24, Provethat ——4 L 2 LB ot natucal muambes 1> 1
ntl n+2 T 2n 24

‘Prove that number of subsets of a set containing 7 distinct elements is 2", for all >
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Short Type Questions

i

YMPIADS

IMO Mock Test | IEO Mock Test | NSO Mock Test

s
x 1 i
Find the term independent of x, x 0, in the cxpansion of [7 —;) PSA Online Mock Test

KVPY Online Mock Test

o
k
If the term free from xin the expansion of [J; - ] i5 405, find the value NTSE Online Mock Test
X

of k.
Find the coefficient of x in the expansion of (1 - 3x + 72?) (1 - x)*

)h ENTRANCE MS

Find the term independent of x in the expansion of, (3» -
x

Find the middle term (terms) in the expansion of

y JEE Main 2015 BITSAT 2015
s
x
o-2)
@ [ 6
Find the coefficient of x* in the expansion of (x —x)"
AIPMT 2015 MGIMS 2015
1
. Find the coefficient of Tin the expansion of [x‘ - +
CLAT 2015 AILET 2015

1 1"
Fmdlhcslxihmmnflhcc:q)ansmn[ 1. xg) . if the binomial coefficient of

the third term from the end is 45.

[Hint: Binomial coefficient of third term from the end = Binomial coefficient of
third term from
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the third term from the end is 45.

[Hint: Binomial coefficient of third term from the end = Binomial coefficient of
third term from beginning ="C, ]

9. Find the value of r, if the coefficients of (2r + 4)® and (v — 2)® terms in the
expansion of (1 + )" are equal.

10. Ifthe coefficient of second, third and fourth terms in the expansion of (1 + x)*

are in AP Show that 212 —9n + 7= 0. FOR ALARMING

11. Find the coefficient of x* in the expansion of (1 +x +x2+x) FACTS

Long Type Questions

12. If pis a real number and if the middle term in the expansion of(

1120, findp.

2
1
13. Show that the middle term in the expansion of [xf—) is

1x3x5 2n—1)
LELELINC L T .

e
14. Find nin the binomial [Vﬂg) ifthe ratio of 7* term from the beginning to

1
the 7% term from the end is -
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15 In the expansion of (x + a)' if the sum of 0dd terms 1s denoied by O and the sum of
even term by E.
Then prove that
() O -B=@-ay @ 40E=(x+ a)”— (x—ay"

N
16. If x? occurs in the expansion of (x’ +;) , prove that its coefficient is

l2n
Tn—pntp
3 3

17. Find the term independent of xin the expansion of (1 +x+2x7) [

Objective Type Questions

Choose the correct answer from the given options in each of the Exercises 18 to 24

MCQ).

18. The total number of terms in the expansion of (x + a)'® + (x — a)'® after
simplification s
(a) 50 (B) 202 (©) 51 (D) none of these

19. Given the integers > 1, n> 2, and coefficients of (3r)* and (r+ 2)" terms in
the binomial expansion of (1 + x) are equal, then +
@) n=2r (® n=3r (€) n=2r+1 (D) noneof these

20. The two successive terms in the expansion of (1 +x)* whose coefficients are in
the ratio 1:4 are

(A) Fand4® (B) #ands®  (C) SPamd6® (D) and T®

%, r+l

[Hint: =4r+4=24-4=
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Trigonomet

Functions for Class 11 Maths subject.

Maths Important Questions Class 11 are given below.

Short Answer Type Questions

1.

B - i

tanA+secA-1
Prove that
tanA-secA+1
2sina 1-cosa+sina
= 2TC0sH Y e also equaltoy.
l+cosa+sina l+sina
l-cosa+sina l-cosa+sina l+cosa+sina
Hint :Express o
l+sina l+sina l+cosa+sina
men
- I sin©=nsin (6 +2a), then prove that tan (6 + a) cot o=
) sin(8+20) m
[Hint: Express “ =" and apply componendo and dividendo]
sin n

4 5 n
. Tfcos (a+P) =5 and sin (a—P) = 7. where o lie betwween 0 and 7, find the

value of tan2ct [Hint: Express tan 2 o as tan (& + B+ ct— B]

ot [a-b
. then find the value of J[~— +\[——3
a-b  Na+b

| Admission 2019 Open

Aglasem Mock Tests (Free) - Try
Now!!

(CBSE Compartment 2018 Exam
Important Guidelines for Class
B | 10and12

Is CBSE cheating on its students
by using Moderation Policy
2018...

Famous failures of most
successful personalities
[Motivational]

Y CBSE Re-Evaluation / Re- . -
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6. Prove that cosd cos —— 0530 cos - = sin 76 sin . Checking / Verification of Marks
2 2 Ivideo]
1 8 9% -
[Hint: Express LHS. = 7 [2cos cos -2 cos36 05— une 1, 2
7. If acos 6+bsin ©=m anda sin 8— b cos 0 = n, then show that a®+ 5= m? + n* Career Options after 10th - Arts,
Science, Commerce, Diploma,
5. Find the value of tan 2230 b P

8 8 8
sin—  2sin—cos— sin®
[Hint: Let® = 45°, use tan———2 - — 22 _ 77
278 28 l+cosd
EDSE 2c0s”—

9. Prove that sin 4A = 4sinA cos’A — 4 cosA si*A.
10. 1f tand + sind = m and tan6 — sind= », then prove that m’— = 4sin6 tan6
[Hint: m +n=2tan6, m —n =2 sind, then use m* —r* = (m + ) (m —n)]

g

11. Iftan (A +B)=p, tan (A~ B) = g, then show that tan 2 A

I
[Hint: Use 24 = (A + B) + (A - B)]

12. Ifcosox-+cosp=0=sino: +sin, then prove that cos 20t + cos 26 =—2cos (o + B).
[Hint: (cosor + cosB)? — (sino: + sinB)? = 0]

sin(x+y) a+b

tan
13X . then show that ——~~ [Hint: Use Componendo and
Sin(x—y) a-b ny b
Dividendo].
sino—cosx
14. Iftan8= ————— then show that sinox + cosct= /3 cos6.
Sinoscosa

[Hint: Express fand = tan (o~ %): e:m%]
1£5in + cos0 = 1, thea find the value of .
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Find the real values of x and y. if
1) x+y)Q-3)=4+i
() A+)x-2i + (Q-3)hy+ =i
3+i 3-1
(iii) (x — iy) ( 3 + 51) is the conjugate of 6 + 24i.

Q2. Find the modulus and arguments of each of the following and represent it in the argand plane (i) z =-1-i \5 (i) z=- \/g
1+2i

LG 1-i G
+1 (i) i (iv) o

Q3. Express the following complex numbers in polar form :-s
(i) sin 50° +1i cos50° (i) Cos70°+1 Cos 20°

Q4. Solve each of the following equations:-

M V32-2x+243 =0 v -2 xi+12=0

(i) ©+-—= +1=0 ®  32Txi+6=0

V2

(i) 3" -4x+ 20 =
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(i) 3x>—4x+ 20 =90
3
Q5. Find the conjugate the following:-
o G  7+si G — gy Go200+30
3+4i (2-5i) 1+2i)2-1)
Q6. Find the multiplicative inverse of the following complex number:-
@ @+V3ir @ e
520
Q7. Express the following complex number in form a + ib
(1.3 . 4 6+3i
6] 3 +3i [— (i) (1-1i)

(iif)

—i
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Q8. Ifz=x+iy and w = . showmat‘w‘:1:> z purely real.

# in the polar form

Q9. Convert the complex number z =
n .
cos—+isin—
3 3
Q10. Show that the images of the complex numbers 3 + 21, 51, -3 + 2i and — i form a square.

Q1. For a complex number z, what is the value of Argz + Arg = (z=0)?

Q12. Show that

=2 represent a circle
z+3

Q13 Find the squareroot of the following complex number:
i) 3+4 (i) 12-51
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» Trigonometry

Subjects

> Accountancy
» Bio Technology
» Biology

» Business Studies
> Chemistry

» Computer Science
> Englisn

» Economics

» Fashion Studies
» Geography

» Graphics design
» Heritage Crafts

> History

> Hindi

» Home Science

» Informatics Practices
» Languages

» Mathematics

> Other Subjects

> Psychology

» Sociology

> Statistics

» Poliical Science
> Physics

3 ¢'=UandU
e A-B=An B

‘@ Commutative Laws
@) AUB=BUA()ANB=BnA
‘@ Associative Laws -~
() AUBUC=AUBUC) () (ANBNC=ANBAO)
 Distributive Laws =
() AnBUC)=ANB)UMANOC)
@ AUBNC) =AUBAAUOC)
e IfAcB thenAnB=AandAUB=8B
VERY SHORT ANSWER TYPE QUESTIONS (1 MARK)
‘Which of the following are sets? Justify your answer.
1. The collection of all the months of a year beginning with letter M

2. The collection of difficult topics in Mathematics.

Let A = {1,3,5,7.9). Insert the appropriate symbol e or ¢ in blank

spaces :~ (Question- 3,4)
3 2—A
4 5—A

5. Wiite the set A = { x : x is an integer, —1 < x < 4} in roster form
6. List all the elements of the set,

Aefrixead oot
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